Here are some of the problenms we discussed in class on 3/30/2010

Pol6 14,43
l s HEE mol Mo
et T T —
er 106 mil L H'L(g) + Lz,fj) — LHI (j)
G-OOL $\7_:.).SO h\.u{ HI
|
This mixture is AT EQUILIBRIUM at 491 C
Find Kc!
2,
N = [HT] L7
(ry 3CT, 3
OMKEmil o 5661232 s Mg
(> ,oul 2
" oo 0.575)
106 mol s p.034333 1 Lo Kz (
Goul (,oe|333)(.o's%333)
2.152 mol -~
QUL




Writing some equiiliorium constant expressions
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More equilibrium expressions

HLSOL1 (agy ) * H’Z,Ow) <~ H%Dz_luéq)*‘HgO\L[m&)

_ EH 50:.,_"3 C H30+]
k(, -

A+ B — C+ D - k=150

... at equiilibrium, we should have more PRODUCTS than reactants! Why?
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Equilibrium problems from the lbook

9,9 ,lHBr(?}:) ’\j 'L(E?) £ Bfl(jJ ; L\/ﬁ,0,0f%

:

0 .0tomsKpn| Find moles of each species at equilibrium
Oemel Hy

Lo l\/g—_o,m%;[mj[g%j
| CHB L2
species | Inifial Change Equiliorium
‘ mal
H &~ ° OiOL 1 0.0l0m| —7 g 0. 0\0~ 1 x
Ho O + X X
S0 0 + X X

00l = (%) (%)

(D,OIO -1\p)1
2

OO0l = X
(o010 "1*#)1




O:0\6 = e = Take the square roof of both sides fo
eqsily solve this.

( ©,010 - Lx )7— (Alternatively, muITipIy everything out and
solve the quadratic)

0126491 peq = K
O.,0(0 ~T ¥

~0.126U9 1oy We need toisolate X

\

C.0le -Zx = o (LOHGN06H
)
0.0(0 s ( +7’>X
2649 \Noéy
\[\ ~ .0l0o

(v 1)
A1649 \oby

X = 0.00\0]



Species Initial Change Equilibrium
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0,000 \ Solve for the concentrations by plugging into the
table we made earlier!
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